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Child Development and Pedagogy

Fet & s & Rem w Pfeg =9 & 1

Development of language in children

B ¥, 98 B :
(A) dle, 91, g, [

(B) G, A, Yo, fera
(C) FF I, e, foveew, wa

(D) e, G, 9o, fora

“faen e devs RBem & e
e " e #R ?

(A) EIEA
(B) R&
(C) %I Td .
(D) W

wHfE g gd e R o ?
(A) & (B) =9
() FR-agF (D)

il Y. TH.09. (CW.SN.) F 899 2 -
(A) ﬁgammaﬁaa‘f%

(B) Rtz smavawa ad F= |

(C) fafore #a = =t 4

) ¥4 A FE 7

occurs in a certain order, that is :

(A) Speaking, Reading, Listening,
Writing

(B) Listening, Speaking, Reading,
Writing

(C) Listening, Speaking.. Writing,
Reading

(D) Speaking, Listening, Reading,
Writing

"Educational Psychology is a

systematic study of educational

growth.” Who said ?7
(A) Stephen

(B) Skinner

(C) Crow &.Crow
(D) Munn

3. Who gave the concept of Mental Age ?

(A) Stern (B) Terman

(C) Binet-Simon (D) Burt

C.W.S.N.isrelated to:

(A) Children with strong needs

(B) Children with special needs
(C) Children with special class

(D) None of these

P.T.O.
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(A) SRS 3

(B) §a1

(C) UiEma T &

(D) T SR %
e fem & TfREr a2 & &
fp weEetE 3 B ?

(A) Has - (B) giEgdta

©) 7 (D) g7

Ty @ atEd 9 e B s
SAafae d@5e § %9 aia B T ?

(A) 4 TR 2010

(B) 438t 2010
(C) 4 IFTET 2009

(D) 4 3BT 2009

. £ & 2020 % T AW 2 :
(A) T TRe g 2020
(B) A9 T3 diicidl 2020

(C) =T THeH JHH 2020
(D) A9FT B AR 2020

9 A T A ofte 9 ger ¥, o

IGFE A AEEE S0 8, U %P
ae fiEar & ded ¥ aw g8 aas
dR-9 3@ TR W I B G
2

(A) frm T A 2
(B) B ITH & @A % T 2

(C) TB I/ H H9 Wer ¥ T T
2

(D) S9ET 4l
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Anger and Fear are types of :
(A) Motivation

(B) Emotion

(C) Hypothesis

(D) Instinct

Which psychologist used the term
Livido in personality development ?

(A) Freud (B) Paviov
(C) Munn (D) Yung

. When ‘Right of Children to Free and

Compulsory Education Act’ passed in
the Parliament ?

(A) 4th August 2010
(B) 4th April 2010

" (C) 4th August 2009

(D) 4th April 2009

Full form of N.E.P. 2020 is :

(A) New Education Policy 2020

(B) National Education Policy 2020
(C) New Education Programme 2020
(D) National Education Programme 2020

. You teach hard in your cl?ss and the

children also study carefully, but some

children learn quickly ~and some

children slowly. This problem may be

caused by : '

(A) Learning is individual. ~

(B) Health of some chiidren is not
good. ;

(C) Some children are not interested in
studies.

(D) All of the above
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10. @R & H8 IIgH o 2

(A) PIgE I

(B) el ¥ aftgdd
(C) At FHAGH
(D) SR

1. ‘R o fagdr ufFa 21 Bes @ 7

(A) TEH
(B) Frf®
(C) rdt
(D) et

12. @& @ BE % 98 IO F E@hIE

W foreen Ree S F gEe B 2

(A) BFIHE FAfeEs Jaaer
(B) i s FiEaT
(C) JTF At

(D) &7 & F T

13. TP 9 gea @ a0 9@l
(A) IR
(8) &@rii & 4=
(C)mﬁ
(D) &4 § g T8
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The most appropriate meaning of
learning is :

(A) Skill acquisition

~ (B) Change in behaviour

LA

(C) Individual adjustment

(D) Acduisition of knowiedge
‘Education is a bipolar process." Who
said ?

(A) Adams

(B) Kilpatric

(C) Dewey

12.

13.

(D) Gandhi

What type of reinforcement is the

teacher writing the student's correct
answers on the Black-Board ?

(A) Positive Nonverbal Reinforcement
(B) Extra Verbal Reinforcement

(C) Both of the above

(D) None of these

Students should be praised :
(A) Individual
(B) Among people

(C) Both of the above

ﬁ (D) None of these

P.T.O.
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&L (CCE)TTWTAE -
(A) FERIET T FFEgE T

(B) Fegag TS FABRMET 3T |
(€) Fhegm T i S :

(D) FFegarm owe FERiba oam

Ue-ds FE i odEeE gt e
& 7

(A) HifEs

(B) &

(C) fereife

(D) =it

e 3 d9-d@ Ry & gHud Y

B T & 7

(A) ST
(B) wHE
(C) A
(D) FFHRT

dFes v A W d=n 3 3 3=
st &1 gd 39 7 & ?

(A) TG, 99E, THEH
(B) W@, ¥, qodial
(C) T, i, 94919
(D) =M, 99\, aE
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15.

16.
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Full name of C.C.E.is :

(A) Comprehensive and Continuous
Evaluation

(B) Continuous and Comprehensive
Evaluation

(C) Continuous and Curricular

Evaluation

(D) Continuous and Comprehensive

Exam

Who gave the five-step system of

lesson plan ?
(A) Morrison

(B) Herbert

‘ (C) Kilpatric -

(D) Dewey

Which of the following method is called
Socratic method ? '

(A) Investigation -
(B) Review
(C) Planning

(D) Question-Answer

What is the right order of the three
main laws of learning given by
Thorndike ? -

(A) Readiness,. Effect, Exercise

(B) Effect, Bercise, Readiness

(C) Readiness, Exercise, Effect

(D) Exercise, Effect, Readiness
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a?ﬁma?‘a'ﬂémr%?

(A) AT
(B) o=
(C) 913
(D) F=

Jafe f=ar H F 8 -
(A) SdidEar 1 99
(B) FTETET H U

(C) wHfte FaEr & gwE
(D) 39dEa T4

AT TOET & T 2/E -

(A) [yagsgan
(C) Fean

(B) &
(D) 3 |t

“afgq 4IPE @4 IR 99 81

98 F9 fEgeE & 7

A B E
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(C) TH
(D) e

Ry T @ o 7 R R ?

(A) HiieTEh

(B) T4

(C) qEwa

(D) & & =g 7
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Which emotion occurs at the time of
Birth according to Psychologist
Bridges ? |

(A) Excitement

(B) Delight

(C) Fear

(D) Distress

The cause of individual differences is :
(A) Effect of genetics 2

(B) Effect of environment

(C) Eftect of mental thoughts - ‘

(D) All of the above

Characteristics of Standardized test
is/are :

(A) Reliability
(C) Validity

(B) Norms
(D) All of these

“The individual is a product of heredity
and environment.”
this 2

Whose statement is

(A) Crow & Crow

() Woodworth

(C) Duglous

A (D) Galton

Who gave the theory of Tral and
Error ?

(A) Thorndike
(B) Ross
(C) Paviov

(D) None of these
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18. frefofad & & @ dfte aws & 7 18. Which of the following is a deprived
A child ?
(A) FEISTs &9 & dR (A) Socially deprived
(B) wigfas &5 ¥ g ~(B) Culturally deprived
(C) 39U 2Nt (C) Both of the above
(D) &% ¥ g & (D) None of these
19. BFH 9w ifeeE Ews 3 dgaEee & 19. Which Child Psychologist has called
dram # oed & e 8 7 infancy stage as the ideal period of
learning ?
(A) ArcHT (A) Watson
(B) AdTerRd (B) Vallentine
(C) FETX (C) Skinner
(D) & & B & (D) None of these
20. AEel & HgER SRS ¥ wEfad '20. According to Maslow, which is the
s T < SmEsEEa B4 2 2 lowest order of need related to
motivation ?
(A) a2 ST (A) Physiological Needs
(B) HIFIHE (B) Cognitive
(C) drd Ay (C) Aesthetic
(D) FEER= (D) Self-Actualization
21. JH =FH-A1S Ao FEEa B 21. Operation Black-Board is related to :
(A) T fEn difd, 1952 9 (A) National Education Policy, 1952
(B) Tsg e ifa, 1968 4 (B) National Education Policy, 1968
(C) TT T if, 1986 8 (C) National Education Policy, 1986
(D) TS fe AAfe, 2020 (D) National Education Policy, 2020
SET-D @ P.T.O.
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e B T A EF AR ~ 27. What is the formula of 1Q.
(intelligence Quotient) ?
(A) m % (A) Mental Age
EIRUEE g, =l 3 Chronological Age
®) AIRE 3, 1s et ®) Chronological Age
- {7, Mental Age
©) AHERIE 3, o e (©) _MentalAge o,
- THIRS A Chronological Age
(D) IS A, < 100 : ' (D) Chronological Age 100
RS Y Mental Age
TF. . T (FLN) & Q0 71 70 & ? 28. Whatis the full form of F.L.N. 2
(A) BE39H foetdl g Ty _ ! (A) Foundation Literacy and Number
(B) WiSsyH feietell w2 <gHedt | (B) Foundation Literally and Numeracy
(C) Tmiey foedl e F47 (C) Fundamental Literacy and Number
(D) BT faetdl ove =i (D) Foundational  Literacy  and
: Numeracy
Fra d ogel a2 29. Whatis the right order in following ?
(A) fas famw, a9@st [, @ (A) Special  Education, Inclusive
fomm Education, Integrated Education
(B) whiga [, RAw fFem wmEsd (B) Integrated  Education, Special
' e Education, Inclusive Education
(C) Ruiy farm, whipa Rrm, G (C) Special Education, Integrated
T : Education, Inclusive Education
(D) wash Rrem, oy fn, wga | (D) Inclusive  Education,  Special
S Education, Integrated Education
O gfE 3 d0F B gha de FJ1 30. What is the intelligence quotient of a
2l ? ‘ normal child ?
(A) 120 - 140 (A) 120 - 140
(B) 110-120 ] (B) 110-120
(C) 80 -90 . (C) 80-90
. (D) 90-110 (D) 90 - 110

SET-D
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_ AT 99 - Rl
afdfers fst ok 7 2 37. % P4 9 :
(A) afr fmst ‘ (A) ¥l He HIE Al 2
(B) @i famst ﬁ (B) &t fpard fagor &t
(C) nfeardt famst (C) ot Frafasmer =g a2 &
(D) RRsh Rmdt (D) SGH Tl '
YT & 3 0 IWE ICT e ¥ 38. ARG 0% SR & -
S ‘ (A) G = (B) Ta T &
& = (C) fassor =1 (D) e &
(B) feforeq sl ,
(C) g &= 39. me%:
(D) ITE &l : ' (A) 3941, ITET, Y
. (B) 3™, 9%, I9F
m—mﬁwﬂwaﬁmm: (C) TTHIT, INET, &%
(A) HFE AN (D) N, 9%, ©IF
»((B:).gw 40. fImo1 i SUNvigar & Serr 2 ¢
% Al (A) favg-agg & I ;
(D). faferee. st (B) Sk W F
HHEA T A (C) TIHIE 18T 3 FH
A) SR = (D) &9 fva & a5 |
(B) ST = T e T
(C) Eaias 93 ’ T F AT F9 8 94itE w9
(D) FrEfe o q gogw A ?
, (A) TEfapeda g9
Gl @) R @ & O a® ae
(A) SR § (C) T 3id A WA
(B) GFI H - (D) ©F 9= § I A9 9%
(C) THi&T § ]
; 42. TEl I R :
(B} SHT i | : (A) TR =
garE F anfes o ® - (B) @ard
(A) ®E  (B) g (C) J=A _
(C) §&9 (D) Hawr (D) SWF 4 & T T

SET-D° ﬁ
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43. g% 9549 g ¢
(A) ami =
(B) @ @
(C) Tt 32
(D) @ &@
44, FHT F AABR FEARA -
(A) EERE (B) AETTEHE
(C) FaHT (D) fagam
45. ‘TH 9IS Yedl B § YR B ¢
(A) i H (B) Famd
, () sf=fa # (D) B H
fdw : F=fafea m@is # gesx 98 U g
(46 | 50 %) & walHH T I 9 fawe
F TG ST :

agwe # el gggEal § wea
©|F ¥ 92 e ¥ g A o B
= 8 FE, 3 Aed # e @ oaem 9
B oW & WET S gevd D AR
a0 ¢ 9 o9 fawg &8st @ daeame @
gEE-drEs & gerEan A ¥ dF i
Tt % B oams § Agew @ oee e
- o A ¥ 98 I A O sew @ o
fugl & s @R dar 2 g @ AgE B
gt # 95 W 38H 39 & =S Ad 2
3 3fe & 78 ougw & B P oaw § s
dicietl, el ST e A & T TG I
foren 1 mregm A 21 A A@EET BT SH AR
gl # & @1 § H9eE, 97 W Ead B9 8
frem #0015 We X gwdl w9 3§
11 A T R T e 5 1
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Rrtasl 9 g8 A W e [ 2 B R @@

A wE R W, REEst OiEe ' W,
.qﬁ_wﬁﬁﬁl@l

B & gfe @ § seags Rvgaeg &1
e T B E e L e e e e
A B AT Y AR § S Eead
Bl o s q @ Wgew § RU O
w7, J9F SR A & 3T 3

46. fEEE A T 9EE A
(A) 9T o B
(B) ofar: ASFIT SHfET 2
(C) w1 3 2

©) i

fawg & Napar & g49 :
(A) fereror mregs | &

(B) g % R =L & B
(C) for % 39 9 2
(D)hw%amﬁméén

47.

48. WG F AEAE SIHHE 2
" (A)-HT T

(B) WA @i =

(C) T i A

(D) HIEAH HIHT

49, TEHd WO Siee 7@ @

(A) S
(C) forg

(B8) g
(D) T
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50, @A i @ for e o R - 54. wwofar ffEd #
(A) TTHHET , (A) aF F
(B) ¥u o1 | ﬁ (B) = &
(C) 3w (C) S9gF 2 4
(D) 3% A 7 BE & | (D) it &
i - Frefafes win B ©F B | S 55: W91 & G B B 2
(51 & 55 a%) % Haifes S IO 9 R (A) FAET B) T
F 994 Q- s
w%a’ﬁ'{ﬁ' 56. o 3T FET :
TG R - _, A THERE
Gﬁqgﬂmﬁ : (B) waigardt &
;r:‘rﬁ;mqaa S (0 i B o
s B | osEmaat
R @ ar @t & . 57. I B :
a1 BT W § aw A e
Afte §98 ANl & wWH-aY :B;GMW _
i AT @ Ve A el @ &
51. AR ST A - - - (D) 39§ Hl
(A) 8 ST qEA )
: : -58. W& I el JH g
:2’) :g;?m b 5 = (A) &9, T (B) mm
() udF a (C) 94, FTH (D) W, FIR
- L
52. % ¥ wgEd B : et
(A) FETEd (B) (A) :g:“'“'“' :
() fred (D) SR g m"“‘"“‘“"'
53. W F A AU 4 : (D) HENS-ETH
(A) 91 T B ; o
(B) 9 fedr | S 60. Qﬁﬁm% .
(C) @ guwdr 8 (A) 9 & (B) T #

() o Fa & (C) sfa & (D) 3T Tl
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What is the main purpose of poetry .

recitation in a language classroom ?

(A) To apprebiate and enjoy the poem

(B) To give their opinions about the

poem
(C) To beéome aware of the poet and

his work

(D) -To encourage children to become
poets

Mohan Chandra Joshi, an English
teacher, presents material in the form
of dialogue and uses vocabulary in

context with hand motions, signal cards

etc. Which method does he use to
teach English ? -

(A) Active Learning method

' (B) Bilingual method

| (A) Oral-aural

34.

SET-D

(C) Audio Lingual method

(D) None of these

Which approach emphasizes
interaction as the means and the goal
of learning a language ?

(B) Communicative

(C) Silentway (D) Immersion

-Total number of consonant sound in
English is :
(A) 12
(C) 20

(B) 8
(D) 24

Direction (Q. No. 35-39) : Read the passage
given below and answer the questions that
follow Dy selecting the most appropriate
option :

Mount Vesuvius, a volcano located between
the ancient ltalian cities of Pompeii and
Herculaneum, has received much attention
because of its frequent and destructive
eruptions. The most famous of these eruptions
occurred in A. D. 79. The volcano had been
inactive for centuries. There was little warning
of the coming eruptions although one account
unearthed by archaeologists says that a hard
rain and a strong wind had disturbed the
celestial calm during the preceding night. Early
next morning, the volcano poured a huge river
of molten rock down upon Herculaneum,
completely burying the city and filling the
harbour with coagulated lava. Meanwhile, on
the other side of the mountain, cinders, stone
and ash rained down on Pompeii. Sparks from
the buming ash ignited the combustible
rooftops - quickly. Large portions of the city
were destroyed in. the conflagration. Fire,
however, was not the only cause of
destruction.  Poisonous  sulphuric gases
saturated the air. These heavy gases were not
buoyant in the atmosphere and therefore sank
towards the earth and suffocated people.

35. What caused the
ignited ?
(A) Forest fire
(B) Volcanic eruption
(C) Air pollution
(D) Wildfires

ﬁ

rooftops. to get

Pl O


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

36. Which natural phenomenons were
witnessed on the night preceding the
disaster ?

(A) earthquakes

(B) hail and storm

(C) hard rain and strong wind
(D) tsunami

37. What IS the
‘Conflagration’ ?

(A) Air (B) Destruction
(C) Event (D) Fire

38. What is the antonym of 'Celestial' ?
(A) Blessed (B) Earthly
(C) Supernal (D) Heavenly

39.. Which gas erupted from the volcano ?
(A) Carbon Monoxide
(B) Hydrogen Cyanide
(C) Ozone ]
(D) Sulphuric Gas

Direction (Q. No. 40-44) : Read the poem
given below and answer the qﬁestions that
follow by selebting the most apbrop}iate
option :

When | consider how my light is sperit,

Ere half my days, in this dark world and wide,
And that one talent, which is death to hide,
Lodged with me useless. though my Soul
more bent

To serve therewith my Maker, and present

My true account, lest He. returning chide;
"Doth God exact day-labour, light denied ?*

I fondly ask. But Patience, to prevent

That murmur, soon replies, "God doth not need

SET-D %

ﬁ [14]

synonym of
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-Either man’s work, or his own gifts, who best

Bear His mild yoke, they serve Him best; His

- state

Is kingly : thousands, at His bidding speed
And post o'er land and ocean without rest;
They also serve who only stand and wait."

40. What is the poet compiaining about in
the first six lines ?

(A) For taking away his talent
" (B) For iaking away his life
(C) For rebuking him '
(D) For making him blind in his youth

41.. What does the poet realize after
- 'sometime ?

{A) God needs nobody's service
~ (B) God grants patience

(C) God gives talents

(D) God requires gifts

42. Which word is personified in the

poem ?
(A) Lodged (B) Light
(C) Patience (D) Kingly

43. What is the antonym of 'chide’ ?
(A) Admonish (B) Praise
(C) Reprimand (D) Criticize

44. In the poem ‘light’ is perhaps a

metaphor for :
(A) life (B) beauty
(C) money (D) vision
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45. For evaluating a poster designed as a
part of a competition, which of the
following criteria would be the most
appropriate for the judges ?

(A) Relevant content, style and word
limit

(B) Use of quotations, style and visual
appeal

(C) Creativity, relevant content and
- visual appeal

(D) Creativity, fonts and visual
approach

Direction (Q. No. 46 & 47) : Substitute the
following phrases with the most appropriate
word from the given options :

46. He is a hater of knowledge and
learning.
(A) -Bibliophile
(B) Misologist
(C) Misogynist'

(D) Philanderer

47. She was listening to a sad song.
(A) Ditty 1
(B) Knell
(C) Dirge
(D) Lay

Direction (Q. No. 48) : Choose the correct
form of verb to complete the sentence :

48: She' .........35 living here for two
years.
(A) has (B) has been
~ (C) havebeen (D) are
SET-D

-Direction (Q. No. 51)

Direction (Q. No. 48) : Choose: the correct
form of tense for the given sentence :

49. Can | have a drink before | ............ to
‘bed ?
(A) go
(B) will have gone
(C) will go
(D) None of the above

Direction (Q. No. 50) : Identify the part of
speech of the underlined word :

50. Wow, you have got a great score.
(A) Conjunction (B) Pronoun
(C) Adverb (D) Interjection

For the given
statement, choose the most appropriate option
in Active Voice :

51. He was made .captain by his
teammates.

(A) The: teammates made the man.
captain.

(B) Captain was the captain for his
teammates. =

(C) His teammates made him their
captain,

(D) He was the captain to his
teammates. '

Direction (Q. No. 52) : Choose the option with
the most suitable. pronouns for the given
sentence :

B2; i i bike doesn't work: Can

............. W REIDL e 23 EDAIE
2

(B) Our, they, me, her
(C) My, you, me, it

: ﬁo) His, you, her, it

P.T.O.
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Direction (Q. No. 53) : Select the correct
conversion of the following direct sentence into
indirect ;

53. Kiran asked me, "Did you see the -

cricket match on television last night 2*

(A) Kiran asked me whether | saw the -

cricket match on television the last
night. A
(B) Kiran asked me whether | had
seen the cricket maich on
television the previous night.

(C) Kiran asked me did | see the

cricket match on television the fast
night. : :

(D) Kiran asked me whether | have
seen the cricket match on
television the last night.

Direction (Q. No. 54) : Identify the figure of

speech in the following sentence :

54. Camel is considered the ship of the
desert. :

(A) Personification
(B) Metaphor

(C) Simile

(D) Pun

Direction (Q. No. 55) : Choose the correct
option for the given sentence :

5§5. The weatheris .............. today.

(A) sunny (B)'sunnier
(C) sunnily (D) sunniest

 SET-D
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Direction (Q. No. 56 & 57) : Choose the most
suitable option that describes the meaning of
the underlined idiom and phrase :

56. When the family in the next house

packed off at midnight, | began to smeli
arat.

(A) to suspect a trick
(B) to misunderstand
(C) to smell a bad smell

(D) to see hidden meaning

57. Seema is a little hard of hearing.
(A) inaudible (B) deaf
(C) disinterested (D) insensitive

58. Select the incorrectly spelt word from
: the following :

(A) Colleague  (B) Commission
(C) Occurrance (D) Convenience

‘Direction (Q. No. 59) ; Choose the correct
past continuous tense and fill in the blank :

59. Most of the time wé .............. in the
park.
(A) were sat
(B) sat
(C) were sitting
(D) had been sitting

60. Scribbling means :
(A) reading carelessly
(B) listening carefully
(C) stammering
(D) writing quickly & carelessly
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Direction (Q. No." 61 & 62) : Choose -the

correct preposition :
61. She was punished .............. stealing a
saree. |
(A) for (B) by
(C) with (D) from

62. In the month of December the

~ temperature falls s 4°C.
(A) from (B) below
(©) at (D) into

63. Bulletin boards and flannel boards are

means of :
(A) Video aids
~ (B) Audio aids
(C) Audio-Video aids
(D) None of these

64. Which of the following is the most
important pre-requisite for language

learning, whether first or second ?

(A) A structural-situational épproach
(B) Skills-based instruction

(C) A multi-lingual approach

{D) An input-ricﬁ communicational

environment

s T

Direction (Q. No. 65 & 66) : Choose the best
:al@gmative to complete the sentences given

below :

65. Please tell me:
: (A) where is the bus stop.
(B) where the bus stop be.
(C) where stops the bus.

(D) where the bus stop is.

 66. | think -
(A) today it is Wednesday.
| (B) that is today Wednesday.
(C) today is Wednesday.
- (D) today be Wednesday.

Direction (Q. No. 67 & 68) : Fill in the blanks
with suitable verbs :

67. Either the mother or the daughter

.............. made this pudding.
(A) have {(B) has
(C) was (D) were
68- One third of the work .............. left
incomplete.
(A) would
(B) was
(C) were

(D) None of these

P.T.O.
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Direction (Q. No. 69 & 70) : Choose the right
word which best-expresses the meaning of the
given idiom/phrase :

69. Merry as a cricket : ‘

5 (A) To enjoy a game of cricket
(B) To be carefree
(C) To dance and sing
{D) To be good at sport

70. Which word is not the synonym of
‘Distress’ ?

(A) Conteniment
(B) Affliction .
(C) Grief

(D) Misery

Direction (Q. No. 71 - 75) : Read the passage
given below and answer the questions that
follow by selecting the most appropriate option :

To avoid the various foolish opinions to
which mankind is prone, no superhuman’braih
is required. A few simple rules keep you free,
not from all errors, but from silly errors. If the:
matter is one that can be setiled by
observation, make the observation youréel_f.
Aristotle could have avoided the mistake of

thinking that women have fewer teeth than -

men, by the simple device of asking Mrs.
Aristotle to keep her mouth open while he
counted. He did not do so because he thought
he knew. Thinking that you know, when infact
you do not, is a fatal mistake to which we are
. all prone. | believe myéelf that hedgehogs eat
black beeties, because | have been told that
they do; but if | was writing a book on the

habits of hedgehogs; 1 should not co%
SET-D | 2
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Aristotle, however, was less cautious. Ancient
and medieval writers knew all about unicorns
and salamanders; not one of them thought it .
necessary to avoid dogmatic statements about
them because he had never seen one of them.

71. The author portrays mankind as :
(A) very intelligent
(B) having superhuman qualities -
(C) nervous and weak

(D) by and large ignorant

72. The author is in favour of drawing

conclusions on the basis of :

(A) reasoning -

(B) study of eminent thinkers
(C) empirical evidence =~
(D) discussion and consultation

According to the author, unicorns and
salamanders : 3
-~ (A)

73.

existed in the past but now have
become extinct J
(B)
(C)

(D)

are invisible.
never really existed

have caused strange stories to be
written about them

The author implies that :
(A)
(B)

74.
hedgehogs eat black beetles
hedgehogs do not ‘reallly eat black
beetles v

he is writing a book about
hedgehogs"

(©)

he has never seen a hedgehog
eating beetles

(D)

i
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75. The attitude of the author is : 79. Teaching of prose includes :
A) Sto
(A) Philosophical (& &
(B) Biography
(B) “Cultural (C) Essay
(C) Scientific | (D) All of the above
(D) Commercial 80. One of the following is not a kind of
: reading :
Direction (Q. No. 76) : Choose the correct (A) Loud reading
conjunction : , (B) Silent reading
g (C) Descriptive reading
76. A student will fail .............. he does s _
ok had {D) Supplementary readlng
(A) because 81. Lexical meaning of aword is :
(B) if (A} asone g9vemed by intonation
(B) as one governed by culture °
(C) unless : 3 : e '
(C) as one given in a dictionary
(D) until (D) as one made out from context
77. Fill in the blank by correct adjective : Direction (Q. No. 82 & 83) : Fill in the bianks
This manis ........... ... enough to play with correct answer :
the fool. :
: 82. When | reached the station | found
(A) the wise .
Radha-59. .08 1 for me
(B) wise (A) waits
(C) wiser : (B) to wait
(D) wisest (C) waited
78. A test of listening comprehension is a (R maiing:;
testof : 83. Youhadbetter .............. nothing.
(A) recepﬁve skill (A) to say
(B). productive skill : (B) saying
(C) hearing ability (C) say
(D) phonology @ (D) said

SET-D P.T.O.
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Direction (Q. No. 84 & 85) : Change the
following sentences into passive voice:: ‘

84. Post this letter. :
(A) This letter should be posted.
(B) This letter must be posted.
{(C) Let this |efter be posted.
(D) None of the above

85. This bottle contains milk. :
(A) Milk is contained in this bottle.
(B) Milk is contained by the bottle.
(C) Both (A) and (B) |
{D) None of these

Direction (Q. No. 86 - 90) : Read the following
passage and answer the questions that follow by
selecting the most appropriate option :

On the morning of August 31,1573, 3000
horsemen of the imperial Mughal army paused
at the bank of the Sabarmati. The rebels, they

- were affer, lay just beyond the swollen river
but the soldiers were exhausted : they had:
travelled 960 kilometers of difficult terrain in
nine days, riding almost continuously.
Suddenly a warrior on a chestnut charger
plunged into the raging torrent. As man and
horse struggled on to the opposite bank, a
thrill ran through the army. it was the emperor,
Jalaluddin Akbar ! With a roar, the soldiers
followed him across and within two déys, they
had put down the rebellion so thoroughly that
Guijarat remained in Mughal hands for the next

185 years. @
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The rebels were camped : :
(A) Across the Sabarmati river
(B) At a fort near Sabarmati
(C) In Gujarat

(D) In imperial Mughal Courts

The expression "Swollen river" means :
(A) ariverin flood

(B) a calmand serene river

(C) a deep river

(D) a shallow river

The Mughal soidiers didn't cross the
river because :

(A) They were cowards

(B) They had joined hands with the
rebels

(C) They were waiting for the king to
arrive

(D) They were tired after a- difficult
journey

The sudden arrival of king Akbar :
(A) Surprised the soldiers

(B) Angered the soldiers

(C)' Dismayed the soldiers

(D) Enthused the solidiers

The attack on the rebels turned out to
be :

{(A) a dismal failure
(B} a grand success
(C) of no particular significance

(D) an ordinary affair
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qi'?:x-'(lzs) + 221+ (~23) + 0.
(40 52 A y = 11 + (~10) + 11 +(-10)
Ty (20 9%), dd y - x 8

(A) 40 (B) 10
(€) 20 (D) 30
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As per the recommendations of NCF

2005, primary school mathematics

curriculum should :

(A) prepare children for advance
mathematics

(B) relate to children's everyday
experiences -

(C) focus on procedural knowledge

(D) provide rigour in Mathematical
concepts

if x=(-23) + 22 + (-23) + 22 (40
terms) and y = 11 + (—10) + 11 + (-10)

......

(A) 40
(C): 20

(20 terms), then y —xis :
(B) 10
(D) 30

Which of the following teaching-learning
resources in mathematics cannot be
used for visually challenged students ?

(A) Tiles

(B) Geo Board

(C) Geo Gebra

(D) Taylor's Abacus

The child who reads numbers wrongly
has which of the following .Iearning
disability 2

(A) Dyscrasia

(B) Dyslexia

(C) Dyspepsia

(D) Dyscalculia
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95. 1025 I WSl # g 3 A9 Et 95. The reflex angle between the hands of
HIT (Fed o) B a clock at 10.25 will be :
(A) 197 1° (B) 180° (&) 1974°  (B) 180°
(C) 210° (D) 1921° (C) 210° (D) 1921°
g96. R fe Brgw &1 wF For 130° A, @ 96. If one angle of a triangle is 130°, then
Fg A PO P gERAEE 49 HW the angle between the bisectors of the
Fior fea 2 2 other two angles is :
(A) 155° (B) 65° (A) 155° (B) 65°
(C) 115° (D) 130° (C) 115° (D) 130°
97. IR ?—;f2+—1-1—, e a, b, c 97. If£=2+—11+,wherea, b, care
: = i3 a+—— :
b+ — b+—
: S G : c
i TgE & @9 a, b AT c T HA natural numbers, then the value of a,
FA9: B - and crespectively are : "
(A) 1,5,3 (B) 1.3.5 LA (B) 1.3.5
(C) 1,5,2 (D) 1,2,5. (€) 1,52 (D) 1,2,5
98, 216 M I I @ T I 6 AW 98. How many cubes of side 6 cm can be
o A e o e g swe ¥ 2 fitted into a cuboid volume of 216 m® 2
(A) 10° () 10* (A) 10° (). 10%
©) 103 (D) 108 ) 10° (D) 10°
99. fyifafad F § F-w @ & oyl 99. Which of the following is not the
dras &1 frsiaq 7@ & ? principle of meaningful learning in
' Mathematics ? o
(A) SHIFE & Haia (A) Principle of Utility
(B) &< gi@ @ =i (B) Principle of Rote learning
(C) s @ i (C) Principle of Exercise
(D) wHfeE sfdl & S IwE & (D) Principle of proper use of mental
faia ' powers
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100. Twin prime numbers are :

101.

102.

(A) 15,17
(B) 41,43
(C) 31,33
(D) 31, 41

To use previous learned matenal in
new situation is called : .

(A) Comprehension
(B) Application
(C) Knowledge

(D) Analysis

Which ‘one of the following will

_ completely divide AL A

103.

104.

(A) 150
(C) 160

(B) 155
(D) 30
X= (N5 ()2 + i

G M £ LR G R 5 e
(—1)2009, then find x — y :

If
and

(A) 2009 (B) 2008

(C)o (D) 1004

A wire is cut into several small pieces.
Each of the small pieces is bent into a
square of side 3 cm. If the total area of
the small squares is 108cm?, then find

~the original length of the wire :

(A) 108 cm (B) 144 cm

(C) 136 cm (D) 138 cm


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

105.

106.

107.

108.

SET-D

3 e

AISvE TatEe 8850 HieX H HAR W B
TEH AU 5400 HeX H FAR W B
78 e 1 {3 ofe 100 diex #t =X &
frar 31, 3R SmER & aWEE -5°C B,
A oid o e e v

(A) -5°C
(C) -34.5°C

(B) 34.5°C
(D) -39.5°C
20 TR F T UK T WU A T M
IEM UUE ® [U T 36.60 @ AEH
e T, dfes 379 § 5 @M 98 @

vd ¢ 4 fad gEm B fie 15 @ #
P fraer 1 a9 ?

(A) T12.20
(C) T24.40

(B) T 15.20
(D) %20.40

1948 1 I i # foifau -
(A) MCMXVIII

(B) MCMXLVIII

(C) MCMXXLVIII

(D) MXLVIII

L
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(B) IR P WEH 3 T

© i e e
I 9 B B G9E

(D) 3 & H 78

™ d R & oqeiEt A s

105.

106.

107.

108.

(A) at  the

GET IT ON
Google Play

XXIV-1

Mt. Everest is at a height of 8850
meters. Its base is at an elevation of
5400 meter. The temperature here
drops at the rate of 1 degree per 100
meters.- If the temperature at the base
is —-5°C, what is the temperature at the
top ?

(A) -5°C
(C) -34.5°C

(B) 34.5°C
(D) —39.5°C

A party of 20 people went to a
restaurant. They ordered a meal of
T 36.60 each, but 5 of them had
forgotten to bring money. In order to
settle the bill, how much more did the

other 15 people have to pay ?
(A) ¥12.20 (B) T15.20
(C) 224.40 (D) 220.40

Write 1948 in Roman Numerals :
(A) MCMXVIil

(B) MCMXLVIII

(C) MCMXXLVII

(D) MXLVII

Evaluation should be done in teaching

of Mathematics :

time of.
experiences of learning

(B) at the time. of -clarification of
‘objectives

(C) after the clarification of objectives
and providing the experiences of
learning

(D) None of these

providing

P.T.O.
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(A) 64 ~ (B) 81
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79, 87,_1,89, 83, 91
(A) 82 (B) 81
(C) 48 (D) 62

R a%=1+7.33=1+7+b 4=

1+47+c 09 a+b+c® 9H 2 :
(A) 58 (B) 75

(C). 77 (D) 116
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How many line(s) of symmetry does the
following regular octagon have ?

()

(A) O (B) 1

(C) 2 (D) 8

What is the least fraction that must be
added to 1l+1l ~:-1l to make the
o VMY P e IO

result an integer ?

(A) 4/5 (B) 8/5

(C) 2/5 (D) 1/5

Two squares have sides x cm and
(2x + 1) cm respectively. The sum of
their perimeters is 100 cm. Area (in

cm2) of the bigger square is :
(A) 64 (B). 81

(C) 225 4 (D) 289

What will come in the box in the given
series ?

79, 87,[_1,89, 83, 91
(A) 82 (B) 81
(C) 48 (D) 62

fa®=1+7.33=1+7+b4%=1+
7 +c, thenthe valueof a+b +cCis:
(A) 58 (B) 75

(C) 77 (D) 110
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The function of diagnosis is the :
(A) Classification

(B) Identify learning weakness
(C) Etymology function

(D) All of the above

Computational skills in Mathematics can

be enhanced by : »

(A) giving conceptual knowledge alone

(B) describing algorithm only

(C) conducting hands-on activities In
class

(D) clarifying concepts and procedures
followed by lots of practice

The mean of 10 numbers is 0. If 72
included In
numbers, the new mean will be

and —12 are these

(A) 6 (B) 60

(D) 5

Which of the following statements are
true regarding teaching 'Numbers’ at
primary level ?

(i) Intuitive understanding of numbers
'should be encouraged.

(i) Writing numbers should be taught
in sequence.

(i) Writing of numbers as numerals
should be before counting.

(iv) Order irrélevance of
should be encouraged.

(A) (i) and (iv) - (B) (iii) and (iv)
(C) (i)and (i) (D) (ii)and (i)

numbers

PO
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(C) 108° (D) 120°
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(C) 15,000 fTNo (D) 20,000 w0
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Directions (Q. No. 118 to 120) : In the
pie-chart given below, the comparative study
of the total production of rice, wheat, pulses

~ and vegetables in an agricultural farm is given.
Study the pie-chart and answer the following
questions :

118. The central angle for wheat production
is .
(A) 30° (B) 60°
(C) 108° (D) 120°

119. According to above pie-chart, the ratio
of sum of wheat and rice production to-
the production of vegetable and pulses
is:

(A) 7:3 (B) 3:4

(C) 1:2 (D) 2:1

120. If the total production of rice, wheat,
pulses and vegetables in the agricultural.
farm is 50,000 kg, then production of
rice is:

(A) 40,000kg  (B) 2,000 kg

(C) 15,000kg (D) 20,000 kg
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. (C) Kerala

125.

126.

‘Blue baby syndrome' is caused by the
presence of which salt in water ?

(A) Carbonate (B) Nitrate

(C) Chloride’ (D) Sulphate

Agrostology is the study of :
(A) Plants

"(B) Agriculture

(C) Algae

(D) Grasses

‘Hariyali Devi' Sacred _Grer is located
in which of the following district of
Uttarakhand ?

(A‘) Rudraprayag

(B) Chamoli

(C) ‘Pauri Garhwal

(D) Tehri Garhwal

In° which state of India does the

" monsoon arrive first 2

(A) West Bengal (B) Assam
(D) Maharashtra

Where was the World Summit on
Sustainable Development held in 2002 ?
(A) Johannesburg (B) Geneva

(C) Shanghai (D) New York

TLM/Teaching learning  materials

reinforce the teaching of environmental

studies : _

(A) by complementing the spoken
words .

(B) by making homework easier

(C) by reducing the activity of the
teacher

ﬂ' (D) None of the above -

P.T.0O.
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Which element acts as a catalyst in the
decomposition of ozone ?

(A) Oxygen (B) Chiorine

(C) Fluorine (D) Potassium

Experimenting, exploring, investigating
and questioning constitute essential
elements of active learning of EVS. A
teacher arranges which -one of the
following activities related to the
concepts of ‘food we should eat' ?

(A) Draw diagrams of all such foods on
the blackboard.

(B) Give examples of different foods
with essential components of each
food.

(C) Asks students to collect related
information from all possible
sources. '

(D) Show a video on this topic.

The fastest depleting natural resource
in the world is : '
(A) Water

(C) Air

(B) Forest
(D) Suniight

Hot-spot concept of Biodiversity was
introduced in which of the following
years ?

(A) 1980
(C) 1988

(B) 1984
(D) 1991

The world famous report 'Limits to
Growth' which declared devastation
due to uncontrolled growth was written
by whom ?

(A) Mairs and associates

(B) Meadows and associates

(C) Brundtland

(D) Wilson and associates
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132. 59 = 3 93F 91 W6 & FGQ LES | 132. Which state passed the first resolution
A gika i ? =5 for joint forest management 2
(A) 757 =% ' (A) Madhya Pradesh
(B) FHeH (B) Karnataka
(C) emrmw w29 : (C) Himachal Pradesh
(D) FSET (D) Odisha
133. o= 9 59 & 3 99 % IUETT € 7 133. Sandal wood forests are examples of
: which type of forest ?
(A) SR ad : (A) Deltai forest
(B) Fear aq (B) Thorny forest
(C) GI€elY a1 SRE (C) Mangrove forest
(D) GURI a5 (D) Deciduous forest
134. 99 fmm 3 an ¥ F=fafa 3 | 134. Which of the following is true about oil
-9 49 g 7 spills 2
(1) 3= REm 3 s dedem #i "F (1) Oil spills increases the bnologucal
g5 oG 81 oxygen demand.
(2 39 g 3 ﬂ'ﬂ'ﬁ T ¥ i (2) Oil spills reduces the oxygen in the
H TEr 59 2 a6 2 sea water.
3 Re ® e ¥ 7 T 3':" Se[ect t'he' correct answer from the
(A) 37 (1) ‘ option given below :
i (A) Only (1)
(B) 3 (2) (B) Only (2)
(©) ()X @2 (C) Both (1) and (2)
(D) ST & & Fix T (D) None of the above
135. Fyfoiaa ams-aRiEs diEe a0 135. Armrange the following social-ecological
gﬁaﬂa@ﬁﬁﬁ; 9 ¥ aied &7 : movements in correct chronological
. = - order :
i;_)) ;ﬁm Cﬂ\'\?ﬁ‘;ﬁw (i) Aarey Movement, Mumbai
e S (n) Chipko Movement ,
TS : (i) Narmada Bachao Movement
() ST qEIS SHAT (iv) Jungle Bachao Movement
L th{ T R | g WG?R ﬁ : Choose the correct answer from the
; options given below :
(A) i i, iii, iv (B) i, iv, i, i (A) i, ii, ifi, iv (B) i, iv, iii, i
(C) i iii, iv,i (D) ii, iv, ii, i @ (C) i, i, iv, i (D) iii, iv, ii, i

SET-D 3 : ' P.T.O.
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ey 3 SRR 97 FY (EER) S

TE-T IO A 9gE 8 Gl 8

- (A) g

(B) M (HITH )

(C) st

(D) TR =

E ra e e e R NS R A e R e g
Rua 2 7

(A) STE"E

(B) 3= 3% B

(C) fFEH

(D) EarET ey

WWW%W%W
4 g& Fear a7

(A) AR 24

(B) TSiG et

(C) siEw el a4l
(D) dlo dio TRH=T T4

FHaad U6 FEME GGG dEGIT D

e 3 g9l @ /@ gEgT S & o
ZHiT &, e Faad ST @i -

(:)mmwmﬁ
Tl

(u)mmmaﬁrﬁraﬁa“mqﬁthﬁa'

FT FqEA B
(_iu)aé%qt’{%araﬂmhmﬁ

&
(v) BT saarenst #t 99 53 &
(A) Fa (i), (i) & (jii)
(B) 3 (iv)
(C) a4 (iii) T (iv)
(D) &9 (i)
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Apart from cow dung, the weed that
can be used in biogas production is :

' (A) Hydrilla

(B) Makoi (Solanum nigrum)
(C) Eichhornia '
(D) Parthenium

‘Great Himalayan National Park' is
located in which of the following States ?

(A) Uttarakhand

(B) Jammu and Kashmir
(C) Sikkim

(D) Himachal Pradesh

Ganga Action Plan was started during
the tenure of which Prime Minister ?

(A) Morarji Desai

(B) Rajiv Gandhi

(C) Atal Bihari Vajpayee

(D) P.V.Narsimha Rao

Poems and stories are effective in
transacting the theme of EVS. This is
because poems and stories :

(i) can provide the contextual learning
environment.

(1)

can nurture creativity and aesthetic
sense. By

(i) can be rich depictions of the child's
environment.

(iv) can explain various concepts.

(A) Only (i), (i) and (iii)

(B) Only (iv)

ﬁ (C) Only (iii) and (iv)

(D) Only (i)
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i O s i G

ey

iR gvmel ¥ 39, 93

fore s/ wdeT fear s 2

(A) 39

(B) WRIIH

(C) fgu f=r

(D) Teitarer (Sfdl 9x @e Sa)
Frefafad & & @9-a1 F9ila A e
Hedh B Ard GEIY AT H IEm & 2,

(A) @@ HEwW (B) @@ AW

(C) f@T &%= (D) 9id @

FE H AAE 7 99 4 3
(A) Zt (B) shferiaifss
(C) sE=%E (D) FifniEs

qRd TR A o (FEyY FEre o
fyd=er) sfafas aifta & -

(A) ‘1999ﬂ (B) 1974 #

(©) 1996# -~ (D) 1975%

a9EE 3 A § Fekiad § § a8

T gFE !

(1) g R a1 F2r a8
(2) T9EH I T BRE A B 3

(3) SARFY HHG H FEE # A

nga@rzﬁ#mm%mwtr@r
51| B
A1 R T R § @8 o o
(A) 3A (1) AT () (B) 3A0 (2) 3T (3)
(C) FA (1) AT (3) (D) (1),(2) T (3)
e ug ) sfafaas,
?2381(?%8 % asfz T ae

el ot & & gy uEee e A
aifa FT 951 & 7
(B) S8 20

(A) FFBT 19
(C) JIg=Z 21 (D) =T 22
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. The term used for the application of

fertilizers, soil improvers and other
water-soluble products into an irrigation
system is :

(A) Fertilizer

(B) Fertigation

(C) Drip irrigation

(D) Foliar feeding

Which of the following is an example of
interaction between living and nonliving
component ?
(A) Food chain
(C) Hunting

(B) Food web
(D) Water cycle

The lake having excessive growth of
algae and richness in nutrients is called :
(A) Eutrophic (B) Oligotrophic
(C) Dystrophic® (D) Meromictic

The Government of India passed the
Water (Prevention and Control of
Pollution) Actin :

(A) 1999 (B) 1974
(C) 1996 (D) 1975

Which of the following statements are

correct regarding community ?

(1) A community is fixed or rigid.

(2) Communities may belarge or small.

(3) Communities in most instances are
named after the dominant plant
species.

- Select the correct answer from the
-option given below :

(A) Only (1) and(2) (B) Oniy(2)and (3)
(C) Only(1)and (3) (D) (1),(2)and (3)

Under which Section of the Air
(Prevention and Control of Pollution) Act,

1981, the state board can declare any
area as 'Air Pollution Control Area’ ?

(A) Section19  (B) Section 20
(C) Section21 (D) Section 22

P.T.O.
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(A) BT 42

aft =9 ufEdt & StaeiET B A U

B siftemier @t s e HA Rem

T & U el B g, /i

(A) S oEE B AE Ray A #
I few 78 g

(B);ﬂ%ma%é%%aﬁ'{%agwﬁ
| y

(C) Uit & & I Bt B

(D) S & U T X A FFT-FHTT
FEGSA T S Bisd- BT GE 2l

% e a8 quER faan @ ?
(A) I L&Y

(B) AIES i

(C) 9% a @B TFidi
(D) BR St

tHo Hlo 3o 3o do F o dlo THo

# T g A e 3 3 R

3= g 3T = Ran T g 2

(A) Tavg & sfa Rsfa e

(B) Rl ol i gy 3 @@
A

(C)ﬁmﬁﬁzﬁ@iﬁwaﬁ'{m'

S FHE
(D) Braiidl ¥ seemsiia SR g
FHAT I dgET

THo Ho Who 2005 3 FFAR Frefufad
¥ § 39 3o do THo (W@
regE) @ fawa 2 7

(A) 9 (B) #HH
(C) (D) R 9fEr
YRGE G99 # AT g

I F 9GE D B a3
WA R T e ! :
(B) ITIeB7 48A

(C) 3= 51A(g) (D) 8% 52
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If we observe birds, we find that most of

the birds often move their neck. This

happens because :

(A) in most of the birds, the eyes are
fixed and can not move.

(B) their ears are covered and they
can fly.

(C) the birds have two eyes.

(D) their eyes can focus on two
different objects at a time.

For which work Rajendra Singh of
Tarun Bharat Sangh was, given the
Magsaysay Award ? -

(A) Water conservation

(B) Community forestry

(C) Clean and neat technology

(D) Solar energy

Which of the following has been given
high priority and space in NCERT's EVS
text books ?

(A) To develop interest in the subject.

(B) To have a change in routine and

monotonous content.

(C) To provide fun and enjoyment for
learmners.

(D) To promote imaginative
creative ability in learners.

and

As per NCF 2005, which of the
following is the theme of EVS ?

(A) Food
(C) Energy

(B) Weather
(D) Solar System

Whibh article of Indian constitution
identifies environmental protection as a
fundamental duty of every citizen ?

(A) Article 42 _ (B) Article 48A

(C) Article 51A(g) (D) Article 52
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Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

Question Nos. 31 to 60 are related to First
Language-Hindi OR English. Candidate has

ect the sofo language as
cuace which the candid: as sel
as First L anguage in his‘her application form.

. Question Nos. 61 to 90 arc related to Second

Language-Hindi OR English OR Sanskrit OR

Urdu. Answer the guestions of. onlv ope
' e 3 > rg

ication form. Be

careful that the language sclected as First
language cannot be taken as Second language.

. Question Nos. 91 to 120 are related to

Mathematics.

Question Nos. 121 1o 150 are related to * ¢

Environmental Studies.

Rough Work can be done in specified space of

If vou cannot answer a question. do not waste

time and proceed to the next one.

. Do not fold or damage the OMR answer sheet

any way.

After examination submit your OMR answer

sheet to the invigilator. Candidates -are

allowed to take away the carbon éopy of

OMR answer sheet and Question Booklet.
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